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(c) One interpretation is that the Rebecca Riots were very successful.
How far do you agree with this interpretation? [10]

In your answer you should use the evidence opposite and your own knowledge of how
and why there are different interpretations of the success of the Rebecca Riots.
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Unmarked set by christian
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1

One interpretation is that the Rebecca Riots were very successful.

How far do you agree with this interpretation? [10]

In your answer you should use the evidence opposite and your own knowledge of how
and why there are different interpretations of the success of the Rebecca Riots.
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Question 2(c)

Target:

Recognition and explanation of historical interpretations; analysis of key historical features; quality of
written communication

Mark allocation:

AO1 AO2 AO3

10

2 2 6

Question:

LEVEL 1

LEVEL 2

LEVEL 3

© WJEC CBAC Ltd.

One interpretation is that the Rebecca Riots were very
successful.

How far do you agree with this interpretation? [10]
Use O for incorrect or irrelevant answers.

Generalised answer; makes simple comments about the interpretation;
will copy or paraphrase the given evidence.
[1-2]

Eg: The Rebecca Riots were successful because a law was passed to
improve the roads. Expect heavy reliance on the use of given evidence.

Identifies differences between ways in which the issue has been
interpreted; will offer a basic judgement with some support from given
evidence and/or own knowledge of the issue.

[3-5]

Eg: Answers will show understanding of the named interpretation, that as a
result of the riots, the tolls were simplified, reduced and Rebecca supporters
had won a great victory. They will also begin to comment upon the different
attitudes prevalent at the time and in the near aftermath. Expect basic
contextual support to be given in terms of a judgement, such as the focus of
the riots being the tollgates as opposed to the many wider factors that
contributed to their outbreak. Use of the given evidence will be more apparent
than use of own knowledge.

Begins to recognise and comment on how and why this issue has been
interpreted in different ways; will give a judgement regarding the given
interpretation.

[6-8]

Eg: Answers will address the question by offering comment on different
interpretations of the success of the Rebecca Riots. There could be some
support of the interpretation. Answers will begin to demonstrate why different
interpretations of this issue have been made, possibly with comments on the
attitudes of the Rebecca rioter, a wealthy landowner and the views of later
historians. Answers will be supported by a greater degree of contextual
knowledge regarding this issue. Answers will begin to judge the worth of
different interpretations by using their own knowledge and given evidence to
comment on issues such as how the riots were viewed at the time and in the
following years.






LEVEL 4

Recognises and provides substantiated comments on how and why this
issue has been interpreted in different ways; will give a clear judgement
considering the given interpretation in the historical context.

[9-10]

Eg: Answers will clearly state whether they agree with the given
interpretation of the success of the Rebecca Riots. In order to make this
judgement, answers will discuss how the given interpretation has been
arrived at and recognise that there are other valid interpretations of this issue.
Answers will demonstrate why it is possible to make different interpretations
of this issue. There will be a considerable degree of historical support in the
answer using both the given evidence and own knowledge. Answers will test
the value of the chosen interpretation by commenting on issues such as what
was perceived at the time and by later interpreters. Answers may comment
on the differences in interpretation given by a Rebecca rioter, someone in a
position of wealth and authority and those writing much later with a greater
degree of hindsight when a far wider perspective has been taken.
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(c) One interpretation is that the Rebecca Riots were very successful.
How far do you agree with this interpretation? [10]

In your answer you should use the evidence opposite and your own knowledge of how
and why there are different interpretations of the success of the Rebecca Riots.
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Sticky Note

The candidate makes an early judgement and proceeds to use the information in Evidence 1 to back it up.



christian

Sticky Note

Unmarked set by christian



Sticky Note

Some understanding of the authorship is displayed, although this could have been developed further. 



Sticky Note

The candidate continues to make a judgement upon the evidence and utilises his/her own knowledge to support the statement.



Sticky Note

The candidate displays some contextual knowledge here.
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Sticky Note

Here, the candidate clearly recognises the factors that determined the forming of this particular person's view. It implies understanding of the narrowness of contemporary views, that cannot take account of subsequent events and interpretations.



Sticky Note

The candidate has recognised how and suggested reasons why the issue has been interpreted in different ways, as well as providing a judgement that is reasonably well supported by contextual knowledge. However, in order to access Level 4, greater consideration of the authorship, audience and the circumstances in which the interpretations were produced were needed. The answer was deemed to be worthy of high Level 3 as a result of the above factors.
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(c) One interpretation is that the Rebecca Riots were very successful.
How far do you agree with this interpretation? [10]

In your answer you should use the evidence opposite and your own knowledge of how
and why there are different interpretations of the success of the Rebecca Riots.
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Sticky Note

The candidate's answer begins positively, with an immediate judgement made.



Sticky Note

However, the judgement is very weakly supported by generalised comments. There is no discussion of the authorship of Evidence 1.



Sticky Note

The candidate has merely paraphrased Evidence 2. By identifying the differences between the pieces of evidence however, the answer is able to access low Level 2.
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Sticky Note

Here the candidate makes limited reference to the authorship, which should have been developed further. A basic judgement is reached with some, generalised support from the candidate's own knowledge.



Sticky Note

Overall, the candidate has offered a basic judgement with limited support from his/her own knowledge. As such, this is a middle Level 2 response. The pieces of evidence are essentially paraphrased and far greater focus upon the attributions was needed as a way of explaining why the issue has been interpreted in different ways. 
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Historians have made different interpretations about the success of the Rebecca Riots.

The following pieces of evidence refer to the degree of success achieved by the Rebecca Riots.
Study these and answer the question which follows.

Evidence 1

This interpretation is written by David Williams, an historian writing in a school textbook, Modern
Wales, published in 1962.

He argues that the Rebecca Riots were very successful.

Largely because of the publicity given to the Rebecca Riots by The Times newspaper, three
special commissioners were appointed to enquire into the riots. As a result, a turnpike bill
was introduced into Parliament and became law in July 1844. The tolls were simplified and
the toll on lime was reduced by half. Rebecca had won a substantial victory.

Evidence 2

This evidence is from Edward Crompton Lloyd-Hall, a landowner, reflecting in the 1860s on the
Rebecca Riots.

He argues that the Rebecca Riots achieved limited success.

There can be no doubt that the changes to the turnpike roads have benefitted farmers
and much of this was down to the Rebecca rioters. However, most are still very poor and
discontented, as little else in their lives has improved.

Evidence 3

This evidence is from William Chambers, a Rebecca rioter, during his trial for the attack on the
Pontarddulais toll-gate (September 1843).

The firing continued for about ten minutes and 60 or 70 shots were fired. The soldiers
followed William Hugh, my fellow rioter, and caught him at the bottom of the hill. | reached
the Pontarddulais Gate and inside | found three more of my fellow rioters handcuffed on
the floor. We had failed to achieve our aims.

(c) One interpretation is that the Rebecca Riots were very successful.
How far do you agree with this interpretation? [10]

In your answer you should use the evidence opposite and your own knowledge of how
and why there are different interpretations of the success of the Rebecca Riots.
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Examiner

[
(c) One interpretation is that the generals were not to blame for the great loss of life during o

the First World War.
How far do you agree with this interpretation? [10]
In your answer you should use the evidence opposite and your own knowledge of how

and why there are different interpretations of the role played by the generals in the great
loss of life during the First World War.
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Examiner

|
(¢) One interpretation is that the generals were not to blame for the great loss of life during o

the First World War.
How far do you agree with this interpretation? [10]
In your answer you should use the evidence opposite and your own knowledge of how

and why there are different interpretations of the role played by the generals in the great
loss of life during the First World War.
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Question 2(c)

Target: Recognition and explanation of historical interpretations; analysis of key historical features; quality of
written communication
Mark allocation: AO1 AO2 AO3
10 2 2 6

Question:

LEVEL 1

LEVEL 2

LEVEL 3

© WJEC CBAC Ltd.

One interpretation is that the generals were not to blame
for the great loss of life during the First World War.
How far do you agree with this interpretation? [10]

Use O for incorrect or irrelevant answers.

Generalised answer; makes simple comments about the interpretation;
will copy or paraphrase the given evidence.
[1-2]

Eg: Evidence 1 states that the generals were not to blame for the loss of life
during the First World War. Evidence 2 disagrees and blames the generals.

Identifies differences between ways in which the issue has been
interpreted; will offer a basic judgement with some support from given
evidence and/or own knowledge of the issue.

[3-5]

Eg: Answers will show a general understanding of the named interpretation
that the generals were not to blame for the great loss of life during the First
World War. They were simply doing the best they could in the circumstances.
They were trying to fight a new type of war with no previous experience.
Expect basic contextual support to be given in terms of a judgement.
Evidence 2 disagrees, and claims that the generals ordered wave after wave
of attacks into No Man’s Land, even though they were ineffective and a large
number of soldiers were killed. Use of the given evidence will be more
apparent than use of own knowledge.

Begins to recognise and comment on how and why this issue has been
interpreted in different ways; will give a judgement regarding the given
interpretation.

[6-8]

Eg: Answers will address the question by offering comment on different
interpretations of the role played by the generals during the First World War.
Answers will begin to demonstrate why different interpretations of this issue
have been made. The first interpretation clearly shows how the generals
were doing the best that they could, considering that they had no previous
experience of fighting such a war. Charles Messenger has himself served as
an officer in the armed forces, and is very sympathetic to the decisions that
generals had to make in the First World War. Evidence 2 is the interpretation
of George Morgan who was a soldier during the First World War. He was an
eyewitness to the horrors of war, and saw a great deal of men killed after
following the orders given to them by the generals. He feels that the tactics
being used by the generals were wrong and ineffective. He is angry that the






LEVEL 4

© WJEC CBAC Ltd.

generals did not realise this, instead they continued to order wave after wave
of attacks, thus leading to great loss of life. As he is recalling his memories
for an interview with the BBC in 1976 he has had an opportunity to form his
interpretation over many years after the war. Perhaps he has spoken to
fellow soldiers or seen the reports about the huge loss of life. The evidence
he has seen has led him to this interpretation. However, he could also be too
resentful of the generals and his own personal attachment to the war has
clouded his judgement. Answers will be supported by a greater degree of
contextual knowledge regarding this issue. Answers will begin to judge the
worth of different interpretations by using their own knowledge and given
evidence to comment on issues such as the fact that the generals were
fighting a new type of war. Evidence 3 supports the interpretation made in
Evidence 2. It shows how poor conditions were in the trenches during a
battle in 1915. The soldiers are not wearing helmets and are not well
protected.

Recognises and provides substantiated comments on how and why this
issue has been interpreted in different ways; will give a clear judgement
considering the given interpretation in the historical context.

[9-10]

Eg: Answers will clearly state whether they agree with the given

interpretation that the generals were not to blame for the great loss of life
during the First World War. In order to make this judgement, answers will
discuss how the given interpretation has been arrived at and recognise that
there are other valid interpretations of this issue. Answers will demonstrate
why it is possible to make different interpretations of this issue. There will be a
considerable degree of historical support in the answer using both the given
evidence and own knowledge.

Answers will test the value of the chosen interpretation that the generals were
not to blame for the great loss of life by commenting on the fact that Charles
Messenger believed that the generals did their best to achieve victory. Their
task was to win the war, and they tried to do this even though they had no
previous experience of trench warfare. He has served as an officer in the
armed forces himself, so would have a good understanding of how difficult it
is to make important decisions under pressure. Having looked at all the
evidence he has reached his own interpretation. As a military historian he
would have carried out extensive research into warfare. His book is about
Trench Fighting, therefore, he has made a very detailed study of the First
World War and the tactics used by the generals. He can see clearly that the
generals were in a very difficult position, fighting a new type of war, without
any previous experience. They had to try out certain tactics, and they did the
best they could in the circumstances. They had to order these attacks as they
were trying to win the war. He is writing many years after the war so has had
plenty of opportunity to form his interpretation. His personal attachment to the
armed forces may have led him to want to defend the role of people who are
placed in charge of soldiers during a war.

10
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Answers will also comment on the differences in the interpretation given by
George Morgan. He served as a soldier during the First World War. He feels
that the generals didn’t care about the soldiers, and that many lives were
wasted as they refused to change their tactics. The generals did make many
wrong decisions. They were unaware of the true nature of trench warfare.
People like General Haig did not even visit the front line. He is very bitter
towards them and feels that they had no concern for human lives. His
personal experience of war has affected his interpretation. He has not
considered the fact that trench warfare was new and that mistakes were
bound to be made. Tactics were changed towards the end of the war. As he
is being interviewed many years after the war perhaps his bitterness towards
the generals has grown.

Evidence 3 clearly supports the view of George Morgan as it shows soldiers
fighting in the trenches in 1915. They are not very well protected; this
particular trench is not very deep, and therefore, the troops are clearly in
danger. They are not wearing helmets even though they appear to be
engaging the enemy. The trench looks chaotic, equipment is scattered
throughout.
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Examiner

[
(c) One interpretation is that the generals were not to blame for the great loss of life during o

the First World War.
How far do you agree with this interpretation? [10]

In your answer you should use the evidence opposite and your own knowledge of how
and why there are different interpretations of the role played by the generals in the great
loss of life during the First World War.
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Sticky Note

Reference to the attribution.  Nowhere near enough discussion of the attribution - see final note.  




Sticky Note

Some discussion of the content of Evidence 1.  Candidates should deal with the content in more detail.



Sticky Note

Reference to question - agreeing with the interpretation.



Sticky Note

Reference to question - disagreeing with the interpretation.



Sticky Note

Reference to the attribution, slightly developed.  Not enough discussion of the attribution - see final note.  



Sticky Note

Some discussion of the content of Evidence 1.  Candidates should deal with the content in more detail.



Sticky Note

Some own knowledge used to back up argument.



Sticky Note

Evidence 3 also discussed.  Candidates must be aware that all three pieces of evidence must be discussed in order to get full marks.



Sticky Note

Good discussion of the photograph and what is being insinuated. The candidate should have linked this evidence to what interpretation it agrees with.



Sticky Note

Good discussion of own knowledge to back up both Evidence 1 and 2.
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Sticky Note

Overall mark given was Level 3 - 7, but only just.
General discussion of content for Evidence 1 and 2.  Mentions attribution, but only slightly.  The candidate should also have mentioned the fact that Evidence 1 was written by someone who had served as an officer in the armed forces during the 1940s and 1950s and would have experience of being in charge of troops.  Therefore he could sympathize with the generals during the war.  The fact that his book is focused on trench fighting should also be commented on as he is obviously an expert in his field, and has carried out significant research into the subject. His personal attachment to the armed forces may have made him want to defend the role of people who are placed in charge of soldiers during the war.
The same detailed discussion of Evidence 2 is also expected.  The soldier has witnessed the slaughter first hand, he is personally involved and is very bitter.  He has not considered the difficulties the generals faced.  He may have seen friends killed on the battlefields and wants someone to blame.
Had the candidate simply stated that Evidence 1 was written by a military historian and Evidence 2 was written by a soldier it would have scored L3 - 6.  Because the attribution of Evidence 2 was slightly developed it was given a 7.  Without a detailed analysis of the attribution candidates cannot progress beyond L3 - 7.
It should be noted for future reference that if no mention is made of the attribution whatsoever, candidates cannot proceed beyond Level 2 - 5.




Sticky Note

Links back to the question and gives a judgement.
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Examiner
|
(¢) One interpretation is that the generals were not to blame for the great loss of life during o

the First World War.
How far do you agree with this interpretation? [10]
In your answer you should use the evidence opposite and your own knowledge of how

and why there are different interpretations of the role played by the generals in the great
loss of life during the First World War.
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Sticky Note

Reference to question - agreeing with the interpretation.



Sticky Note

Brief reference to attribution.  Not enough discussion of the attribution - see final note.  




Sticky Note

Only a very brief discussion of the content of Evidence 1.  The candidate should deal with the content in more detail.



Sticky Note

Reference to question - disagreeing with the interpretation.



Sticky Note

Brief reference to attribution.  Not enough discussion of the attribution - see final note.  




Sticky Note

Some discussion of the content of Evidence 2.  Again extremely brief.  Candidates should deal with the content in more detail.



Sticky Note

Reference to Evidence 3, but only a brief reference to what is shown.  This should be done in much more detail.



Sticky Note

This is inaccurate - the Evidence does not show dead bodies.



Sticky Note

A fair attempt at a judgement.    
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Sticky Note

Overall mark given was Level 2 - 4.  Basic judgement with some support.  
Very generalised discussion of content for Evidence 1 and 2, hardly any mentioned.  Evidence 3 mentioned but inaccurate.  Mentions attribution, but only slightly - experienced war officer and soldier in the trenches only.  The candidate should have mentioned the fact that Evidence 1 was written by a military historian who had served as an officer in the armed forces during the 1940s and 1950s and would have experience of being in charge of troops.  Therefore he could sympathize with the generals during the war.  The fact that his book is focused on trench fighting should also be commented on as he is obviously an expert in his field, and has carried out significant research into the subject. His personal attachment to the armed forces may have made him want to defend the role of people who are placed in charge of soldiers during the war.
The same detailed discussion of Evidence 2 is also expected.  The soldier has witnessed the slaughter first hand, he is personally involved and is very bitter.  He has not considered the difficulties the generals faced.  He may have seen friends killed on the battlefields and wants someone to blame.  He is writing years after the war when his memory may be clouded and his bitterness has grown.
It should be noted for future reference that if no mention is made of the attribution whatsoever, candidates cannot proceed beyond Level 2 - 5.
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Historians have made different interpretations about the role played by the generals in the great loss
of life during the First World War.

The following pieces of evidence refer to the role of the generals in the great loss of life during the
First World War.

Study these and answer the question which follows.
Evidence 1

This interpretation is from Charles Messenger, a military historian who served as an officer in the
armed forces during the 1940s and 1950s, writing in his book Trench Fighting, published in 1972.

He argues that the generals were not to blame for the great loss of life during the First World War.

It has been fashionable to criticise the generals during the war, as they continued
to fight a trench war. But it must be remembered that they were all faced with an
entirely new type of war, of which they had no previous experience. The task of the
general in war is to win victories. Sooner or later one must attack and they did their
best to do this.

Evidence 2

This evidence is from George Morgan, recalling his time as a soldier in the First World War, for a
BBC interview in 1976.

He argues that the generals were to blame for the great loss of life during the First World War.

The generals continued to order wave after wave of attacks from the trenches, wasting
thousands of lives with each attempt, long after it should have been clear that they
could not succeed. It was slaughter. The commanders, Haig and Rawlinson, didn’'t
care about us. | don'’t think they were bothered about human lives.

Evidence 3

This evidence is a photograph of soldiers in the trenches during a battle in 1915.

© WJEC CBAC Ltd. (4271-02)
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Examiner
[
(c) One interpretation is that the generals were not to blame for the great loss of life during o

the First World War.
How far do you agree with this interpretation? [10]
In your answer you should use the evidence opposite and your own knowledge of how

and why there are different interpretations of the role played by the generals in the great
loss of life during the First World War.
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Examiner
[
(c) One interpretation is that the Jazz Age was enjoyed by all Americans. o

How far do you agree with this interpretation? [10]

In your answer you should use the evidence opposite and your own knowledge of how
and why there are different interpretations of whether all Americans enjoyed the Jazz
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(c) One interpretation is that the Jazz Age was enjoyed by all Americans.
How far do you agree with this interpretation? [10]

In your answer you should use the evidence opposite and your own knowledge of how
and why there are different interpretations of whether all Americans enjoyed the Jazz
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Question 2(c)

Target: Recognition and explanation of historical interpretations; analysis of key historical features; quality of
written communication
Mark allocation: AO1 AO2 AO3
10 2 2 6

Question:

LEVEL 1

LEVEL 2

LEVEL 3

© WJEC CBAC Ltd.

One interpretation is that the Jazz Age was enjoyed by
all Americans.
How far do you agree with this interpretation? [10]

Use 0 for incorrect or irrelevant answers.

Generalised answer; makes simple comments about the interpretation;
will copy or paraphrase the given evidence.
[1-2]

Eg: Many Americans liked the Jazz Age; they liked the music and fashions.
Some Americans thought the changes were bad as they made women
behave badly.

Identifies differences between ways in which the issue has been
interpreted; will offer a basic judgement with some support from given
evidence and own knowledge of the issue.

[3-5]

Eg: Answers will show understanding of the named interpretation that
Americans could enjoy the Jazz Age. They will also comment that not all
Americans were supportive of the change to society. Expect basic contextual
support to be given in terms of a judgement, such as Americans liked new
music such as Jazz as it led to new fashions in terms of dancing and clothing.
There may also be some general reference to the impact of the cinema, such
as people wanted to go and see the ‘talkies’ as shown in Evidence 3. Use of
the given evidence will be more apparent than use of own knowledge.

Begins to recognise and comment on how and why this issue has been
interpreted in different ways; will give a judgement regarding the given
interpretation.

[6-8]

Eg: Answers will address the question by offering comment on different
interpretations of the impact of the Jazz Age on American society. Answers
will begin to demonstrate why different interpretations of this issue have been
made, possibly with comments on the attitude of the authorities and the views
of later historians. Answers will be supported by a greater degree of
contextual knowledge regarding this issue. Answers will begin to judge the
worth of different interpretations by using their own knowledge and given
evidence to comment on issues such as the extent that Americans were able
to enjoy the Age; the advent of cinemas meant that millions of Americans
could afford to be a part of the changing culture due to cheap prices; women
were particularly influenced and changed their lifestyles; however, some
Americans disliked the new age on moral grounds, or could not afford to be a
part of the changes to society. Evidence 1 was produced as a GCSE history
textbook; this would mean that the author would have a clear overview of the
period, and could see that Americans enjoyed the Jazz Age; as a school
textbook, the author may have simplified the content to make it accessible to
students. Evidence 2 is from a religious leader, reflecting on the Jazz Age; he
clearly would disagree with Evidence 1 as some Americans believed that the
cultural changes lowered moral standards, particularly in women.

7






LEVEL 4

Recognises and provides substantiated comments on how and why this
issue has been interpreted in different ways; will give a clear judgement
considering the given interpretation in the historical context.

[9-10]

Eg: Answers will clearly state whether they agree with the given
interpretation of the Jazz Age. In order to make this judgement, answers will
discuss how the given interpretation has been arrived at and recognise that
there are other valid interpretations of this issue. Answers will demonstrate
why it is possible to make different interpretations of this issue. There will be
a considerable degree of historical support in the answer using both the given
evidence and own knowledge. Answers will test the value of the chosen
interpretation by commenting on issues such as the extent that the Jazz Age
was enjoyed by all Americans; attitudes of young Americans, particularly
young women; attitudes in the cities; the advent of cinemas, as shown in
Evidence 3; the jazz clubs; new dances and crazes. The development of
these factors would support the view given in Evidence 1 pointing that
Americans on the whole enjoyed the Jazz Age. Answers may comment on
the differences in interpretation given by the reflections of a religious leader
from the period in an interview, and those writing much later with a greater
degree of hindsight in a school textbook. The religious leader would have
disagreed entirely with the view that all Americans enjoyed the age, and while
it is clear that many Americans did support the changes to culture and
society, Evidence 2 would suggest that not all Americans enjoyed the Jazz
Age.
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(c) One interpretation is that the Jazz Age was enjoyed by all Americans.

How far do you agree with this interpretation? [10]

In your answer you should use the evidence opposite and your own knowledge of how
and why there are different interpretations of whether all Americans enjoyed the Jazz

Age.
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Sticky Note

There is an attempt to discuss the content and attribution of Evidence 1 here.  It is quite mechanistic, but has attempted to bring in some context.



Sticky Note

Evidence 2 is similar to Evidence 1.  There is some explanation of the content and author, but does not develop the judgement.
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Sticky Note

Again, there is some working of Evidence 3, but not sufficiently developed for high Level 3.



Sticky Note

There is some fair judgement here, especially on the interpretation of religious people.  More arguments like this were needed throughout the answer for higher marks.










(c)

1

One interpretation is that the Jazz Age was enjoyed by all Americans.
How far do you agree with this interpretation? [10]

In your answer you should use the evidence opposite and your own knowledge of how
and why there are different interpretations of whether all Americans enjoyed the Jazz

© WJEC CBAC Ltd. ) (4271-03) . Turn over.




Sticky Note

This is an excellent explanation of how Evidence 3 explains how far that the Jazz Age was enjoyed by Americans.



Sticky Note

There is a clear and substantiated judgement on this issue from the start.
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Sticky Note

Evidence 1 is linked well with Evidence 3, and is explained in context.  There is adequate evaluation of the author is the space and time given, and considering that the candidate has already provided judgement and context.



Sticky Note

Evidence 2 is very well explained.  The candidate comes to reasoned and substantiated comments in the historical context.  The candidate also directs the answer to the question here.



Sticky Note

There is a good final sentence which answers the question fully.  On the whole, this candidate does all that is needed for the question given the time and space given to answer.
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Historians have made different interpretations about whether all Americans enjoyed the Jazz Age.
The following pieces of evidence refer to the Jazz Age.

Study these and answer the question which follows.

Evidence 1

This interpretation is written by an historian for a GCSE school history textbook published in 2001.

He argues that the Jazz Age was enjoyed by all Americans.

The Jazz Age’ was the term given to the changes in popular culture in the USA during
the 1920s. This term was used to describe not only the changes to popular music, but
also to the dances and fashions that all Americans enjoyed. The decade can also be
called the ‘Flapper Age’ to highlight the new social and cultural status of women.

Evidence 2

This evidence is from William Hays, a religious leader, interviewed in 1952 about his 30 years of
involvement with the Hays Censorship Code.

He argues that the Jazz Age was not enjoyed by all Americans.

I had the backing of several religious and community leaders when | proposed my
Censorship Code in 1922. We all had had enough of seeing nudity and sexual acts
in films. Cinema audiences would leave the cinema thinking that they could poke fun
at politicians, police officers, and even judges. Women were especially targeted, and
were encouraged to wear revealing clothes and behave badly. | am pleased that my
Code helped to control what audiences could see and hear in films and music.

Evidence 3

This evidence is a photograph of the premiere of The Jazz Singer, the first full-length ‘talkie’ in 1927.

© WJEC CBAC Ltd. (4271-03)
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Examiner
[
(c) One interpretation is that the Jazz Age was enjoyed by all Americans. o

How far do you agree with this interpretation? [10]
In your answer you should use the evidence opposite and your own knowledge of how

and why there are different interpretations of whether all Americans enjoyed the Jazz
Age.
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Examiner
[
(c) One interpretation is that the most serious opposition to the Nazis during the war came i

from the army.
How far do you agree with this interpretation? [10]

In your answer you should use the evidence opposite and your own knowledge of how
and why there are different interpretations about the most serious opposition to the Nazis

during the Second World War.
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(c) One interpretation is that the most serious opposition to the Nazis during the war came
from the army.
How far do you agree with this interpretation? [10]
In your answer you should use the evidence opposite and your own knowledge of how

and why there are different interpretations about the most serious opposition to the Nazis
during the Second World War.
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Question 2(c)

Target: Recognition and explanation of historical interpretations; analysis of key historical features; quality of
written communication
Mark allocation: AO1 AO2 AO3
10 2 2 6

Question:

LEVEL 1

LEVEL 2

LEVEL 3

© WJEC CBAC Ltd

One interpretation is that the most serious opposition to
the Nazis during the war came from the army.
How far do you agree with this interpretation? [10]

Use 0 for incorrect or irrelevant answers.

Generalised answer; makes simple comments about the interpretation;
will copy or paraphrase the given evidence.
[1-2]

Eg: the main opposition came from the Army, there was some opposition
however from young people. Yes, the generals were involved in plots against
Hitler; they wanted to kill him. Expect heavy reliance on use of the given
evidence.

Identifies differences between ways in which the issue has been
interpreted; will offer a basic judgement with some support from given
evidence and/or own knowledge of the issue.

[3-5]

Eg: Answers will show understanding of the named interpretation that the
most serious opposition to the Nazis during the war came from the army.
Expect basic contextual support to be given in terms of a judgement, such as
the Army were the main opposition, there was other opposition such as the
White Rose group. Use of the given evidence will be more apparent than use
of own knowledge.

Begins to recognise and comment on how and why this issue has been
interpreted in different ways; will give a judgement regarding the given
interpretation.

[6-8]

Eg: Answers will address the question by offering comment on different
interpretations that the most serious opposition to the Nazis during the war
came from the army. Answers will begin to demonstrate why different
interpretations of this issue have been made, possibly with comments on the
attitude of the authorities and the views of later historians. Answers will be
supported by a greater degree of contextual knowledge regarding this issue.
Answers will begin to judge the worth of different interpretations by using their
own knowledge and given evidence to comment on issues such as the
opposition from the army and various plots (Stauffenberg, Beck), the
opposition of the youth (White Rose, Eidelweiss Pirates, Navajos, Swing
youth), the opposition of the church and religious groups.






LEVEL 4

© WJEC CBAC Ltd

Recognises and provides substantiated comments on how and why this
issue has been interpreted in different ways; will give a clear judgement
considering the given interpretation in the historical context.

[9-10]

Eg: Answers will clearly state whether they agree with the given
interpretation that the most serious opposition to the Nazis during the war
came from the army. In order to make this judgement, answers will discuss
how the given interpretation has been arrived at and recognise that there are
other valid interpretations of this issue.

Answers will demonstrate why it is possible to make different interpretations
of this issue. There will be a considerable degree of historical support in the
answer using both the given evidence and own knowledge.

Answers will test the value of the chosen interpretation by commenting on
issues such as the July Bomb plot 1944, the opposition of Communist groups,
the Kreisau circle, the various youth groups in Germany and their opposition
e.g. Swing Youth, Navajos, Eidelweiss Pirates, the White Rose groups.
There may be comment on the religious opposition of the Catholic and
Protestant churches and individuals such as Niemoller and Bonhoffer.
Answers may comment on the differences in interpretation given by a
member of the White Rose group and the evidence of Hitler youth member
and those writing much later with a greater degree of hindsight.
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Examiner
[
(c) One interpretation is that the most serious opposition to the Nazis during the war came i

from the army.
How far do you agree with this interpretation? [10]

In your answer you should use the evidence opposite and your own knowledge of how
and why there are different interpretations about the most serious opposition to the Nazis

during the Second World War.
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Sticky Note

A good introduction - Makes a valid point and outlines the argument.



Sticky Note

Direct use of the Evidence. Uses the content of the source. Excellent discussion of the attribution and places the evidence in in its historical context with extensive use of additional knowledge.



Sticky Note

Evidence 2 disagrees. The candidate uses the content of the source to explain why there are differing interpretations. Excellent discussion of the attribution and places the evidence in in its historical context with extensive use of additional knowledge.








Sticky Note

Uses evidence 2 to support evidence 3.



Sticky Note

This response was awarded a Level 4 - 10 marks.
The response is well developed and uses the sources, the attribution and own knowledge effectively to discuss the different opposition to the Nazi Party during the war.
The candidate has successfully used the three pieces of evidence, in context discussing the attributions to make a sophisticated judgement as to the level of opposition to the Nazi Party.




Sticky Note

There is:
Good use of the content of the sources.
Good use of the attribution.
Clear and balanced judgement.
Good context and own knowledge.
Deals clearly with why the sources are different.
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One interpretation is that the most serious opposition to the Nazis during the war came oy

from the army.
How far do you agree with this interpretation? [10]
In your answer you should use the evidence opposite and your own knowledge of how

and why there are different interpretations about the most serious opposition to the Nazis
during the Second World War.
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Sticky Note

Uses the content of Evidence 1 with some contextual support.
No use of the attribution.



Sticky Note

Uses the content of Evidence 2 with some contextual support. Makes a judgement that it disagrees with evidence 1.
No use of the attribution.



Sticky Note

Uses the content of Evidence 3 to support Evidence 2. Some contextual support.
No use of the attribution.





12

Examiner
only

@ ' 20

END OF QUESTION 2

© WJEC CBAC Ltd. . (4271-04)




Sticky Note

This response was awarded a Level 2 - 5 marks.
The candidate uses the content of the 3 pieces of evidence only. 
The candidate begins to focus on the interpretation however uses their own knowledge and the content of the sources only.

As the candidate has not used the attribution of the sources, then the answer can only reach the top of L2 (5marks) 










10
Historians have made different interpretations about who posed the greatest threat to the Nazis
during the Second World War.
The following pieces of evidence refer to the seriousness of opposition from different groups to the
Nazis during the war. Study these and answer the question which follows.
Evidence 1

This interpretation is written by Stephen J Lee, an academic historian writing in an A Level textbook,
The European Dictatorships 1918-1945, published in 1987.

He argues that the most serious opposition to the Nazis came from the Army.

After the defeat at Stalingrad opposition to the Nazis began to grow. The most serious
blow to the Nazis was struck in July 1944 when army officers placed a bomb in Hitler’'s
military headquarters. Hitler escaped injured, but alive.

Evidence 2

This evidence is from the memoirs of Inge Scholl, a former member of the White Rose. She wrote
about the group in her book Students against Tyranny, published in 1952.

She argues that the most serious opposition to the Nazis came from the young.

The White Rose tried to make young Germans aware of the real nature of Nazism.
They encouraged resistance among young Germans. The group wanted to show that
Hitler no longer enjoyed the support of all Germans and published pamphlets targeting
students and encouraging them to rise up against Nazism.

Evidence 3

This evidence is a report by the Hitler Youth leadership into the activities of young Germans during
the war, written in 1942.

The formation of groups of young people not under the control of the Hitler Youth has
been on the increase during the war. This has developed to such a degree that there is
now a serious risk of political, moral and criminal ideas influencing our youth.

(c) One interpretation is that the most serious opposition to the Nazis during the war came
from the army.

How far do you agree with this interpretation? [10]
In your answer you should use the evidence opposite and your own knowledge of how

and why there are different interpretations about the most serious opposition to the Nazis
during the Second World War.

© WJEC CBAC Ltd. (4271-04)
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(c) One interpretation is that China improved relations with the USA because Sino-Soviet
relations were poor.

How far do you agree with this interpretation? [10]
In your answer you should use the evidence opposite and your own knowledge of how

and why there are different interpretations of the improving relations between China and
the USA during the 1970s.
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1

(c) One interpretation is that China improved relations with the USA because Sino-Soviet
relations were poor.

How far do you agree with this interpretation? [10]

In your answer you should use the evidence opposite and your own knowledge of how
and why there are different interpretations of the improving relations between China and
the USA during the 1970s.
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Question 2(c)

Target:

Recognition and explanation of historical interpretations; analysis of key historical features; quality of
written communication

Mark allocation:

AO1 AO2 AO3

10

2 2 6

Question:

LEVEL 1

LEVEL 2

LEVEL 3

© WJEC CBAC Ltd

One interpretation is that China improved relations with
the USA because Sino-Soviet relations were poor.
How far do you agree with this interpretation? [10]

Use O for incorrect or irrelevant answers.

Generalised answer; makes simple comments about the interpretation;
will copy or paraphrase the given evidence.
[1-2]

Eg: China wanted to be friends with America because their relationship with
the Soviet Union was deteriorating; Mao wanted help to improve China’s
industry; America wanted economic prosperity.

Identifies differences between ways in which the issue has been
interpreted; will offer a basic judgement with some support from given
evidence and/or own knowledge of the issue.

[3-5]

Eg: Answers will show understanding of the improving relations between
China and the USA in the 1970s as related to the need for greater security
because of the threat posed by the Soviet Union, and because China wanted
to develop trade and cultural links with the West. Expect basic contextual
support to be given in terms of a judgement, such as the Sino-Soviet split had
reached its peak by the 1970s and China was searching for greater security;
China was eager to improve its economy with a realisation that they would
benefit from trading with Western nations. Use of the given evidence will be
more apparent than use of own knowledge.

Begins to recognise and comment on how and why this issue has been
interpreted in different ways; will give a judgement regarding the given
interpretation.

[6-8]

Eg: Answers will address the question by offering comment on different
interpretations of improving relations with the USA during the 1970s.
Answers will begin to demonstrate why different interpretations of this issue
have been made, possibly with comments on the motives of commentators at
the time and the views of later historians.

Answers will be supported by a greater degree of contextual knowledge
regarding this issue. Answers will begin to judge the worth of different
interpretations by using their own knowledge and given evidence to comment
on issues such as the extent of the Soviet threat to China; the role of trade
talks between Kissinger and Nixon with their Chinese counterparts and the
policy of détente; the symbolism of cultural links and acceptance of China in
the UN.






LEVEL 4

© WJEC CBAC Ltd

Recognises and provides substantiated comments on how and why this
issue has been interpreted in different ways; will give a clear judgement
considering the given interpretation in the historical context.

[9-10]

Eg: Answers will clearly state whether they agree with the given
interpretation of the improving relations between China and the USA at the
beginning of the 1970s. In order to make this judgement, answers will discuss
how the given interpretation has been arrived at and recognise that there are
other valid interpretations of this issue. Answers will demonstrate why it is
possible to make different interpretations of this issue. There will be a
considerable degree of historical support in the answer using both the given
evidence and own knowledge. Answers will test the value of the chosen
interpretation by commenting on issues such as how Sino-Soviet relations
had progressively deteriorated since Khrushchev was in power and reached a
climax with armed border clashes in 1969; China’s aim of becoming a world
superpower meant that the economy needed to develop rapidly and trade
links with Western nations would achieve this; the damaging effects of the
Cultural Revolution made the desire to improve relations with the West
attractive to modernise China; the influence of détente and the United States’
decision to hold talks with the Chinese government and support their
membership of the United Nations were clear steps towards improving
relations. Answers may comment on the differences in interpretation given by
President Nixon and those writing much later with a greater degree of
hindsight.
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(c) One interpretation is that China improved relations with the USA becauseSino-Soviet
relations were poor.
How far do you agree with this interpretation? [10]
In your answer you should use the evidence opposite and your own knowledge of how

and why there are different interpretations of the improving relations between China and
the USA during the 1970s.
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Sticky Note

Clear reference to Evidence 1 that includes some additional contextual knowledge and relevant evaluative comments regarding the attribution.



Sticky Note

Additional own knowledge displayed but would benefit from greater detail.
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Sticky Note

A judgement is presented at the conclusion of the answer with general support.



Sticky Note

This response was awarded Level 3 - 8 marks. The candidate has made a clear attempt to answer the question set with reference to the content and attributions of all three pieces of evidence. The answer would benefit from more contextual knowledge to support the discussion of the evidence and judgement.
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(c) One interpretation is that China improved relations with the USA because Sino-Soviet
relations were poor.
How far do you agree with this interpretation? [10]
In your answer you should use the evidence opposite and your own knowledge of how

and why there are different interpretations of the improving relations between China and
the USA during the 1970s.
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Sticky Note

Clear use of own knowledge to support an understanding of the interpretation.



Sticky Note

The candidate makes reference to the origin of the Evidence but lacks comments regarding how or why this could influence the validity of the interpretation.
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Sticky Note

This response was awarded Level 2 - 5 marks. The candidate has identified different reasons for the Sino-Soviet split and included some relevant own knowledge. The answer would benefit from comments on how and why the issue has been interpreted in different ways with a clear evaluation of the attributions. The answer includes a basic judgement that requires greater support.
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Historians have made different interpretations about why China improved its relationship with the
USA during the 1970s.

The following pieces of evidence refer to relations between China and the USA. Study these and
answer the question which follows.
Evidence 1

This interpretation is written by Geoff Stewart, an academic historian, China 1900-1976, published
in 2006.

He argues that China improved relations with the USA because Sino-Soviet relations were poor.

Mao worked on the age-old principle that my enemy’s enemy is my friend, and the
deteriorating relationship with the Soviet Union made improving relations with the USA
look increasingly attractive to ensure China’s security.

Evidence 2

This evidence is from Ben Walsh in a school textbook, GCSE Modern World History, published in
20009.

He argues that China wanted to improve relations with the USA in order to develop its economy.

Mao wanted to get access to American investment, technology and advisers to help
improve China’s industry. Cultural links were strengthened and the USA’s table-tennis
team competed for the first time in China.

Evidence 3

This evidence is from President Nixon speaking in a public speech in 1971.

There can be no economic prosperity without the participation of the People’s Republic
of China. That is why we have decided in several areas to open doors for more normal
relations between our two countries.

(c) One interpretation is that China improved relations with the USA because Sino-Soviet
relations were poor.

How far do you agree with this interpretation? [10]
In your answer you should use the evidence opposite and your own knowledge of how

and why there are different interpretations of the improving relations between China and
the USA during the 1970s.
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(c) One interpretation is that Custer was not responsible for the defeat at the Battle of the
Little Big Horn.

How far do you agree with this interpretation? [10]

In your answer you should use the evidence opposite and your own knowledge of how
and why there are different interpretations of why Custer was defeated at the Battle of the

Little Big Horn.
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(c) One interpretation is that Custer was not responsible for the defeat at the Battle of the| ™

Little Big Horn.

How far do you agree with this interpretation? [10]

In your answer you should use the evidence opposite and your own knowledge of how
and why there are different interpretations of why Custer was defeated at the Battle of the
Little Big Horn.

1O oer i - A 1 92”2 SO Lempeddenke.. IV N O Sl I
ook all bl Gliny oo luseSfe
............ IAI’Q—Q/LM‘B(«[LU < J) .

© WJEC CBAC Ltd. ' (4271-06) - Turn over.






Question .
number

‘\ { v ‘ / .\ ) Leavcj
2(-4 &NC«V\\—.@A SO a'E)( oA (f)';, \:L‘\/_’ CBU.) ‘r'i !2’_,1/ /M uu[gf/!/ blank

He CunS LrM}/)ﬁl«@\/"' ad le e te, o vebosn
&, (LS ale  naSlemd QQ Br  fucilr o
odack Mg s T ehove  Rak s
Qe Son [ne AV s Seoods SN
Sy s 4@1 L 0 booe SDsewd o

0) {opde/ Oz~ \i/() XS ) e s/ Le Comneg
Ve kerevg Y Mowe for  Mas a5 fee
taal he Lonback L;,»;/foue--e» \ w~S5U( Grtd
OWe AgrneaS. T leliove Mot Gl
WS Ceo ey worlolton  oud heed (o 4 ("‘/;u

@ \ :
\ -- \ ~ ,
(o {*\MO-N\ oo O\~ e YN0 A o es | ﬂ»\’ﬂ)
b e Qeleal .




Phil

Sticky Note

Marked set by Phil










Question 2(c)

Target: Recognition and explanation of historical interpretations; analysis of key historical features; quality of
written communication
Mark allocation: AO1 AO2 AO3
10 2 2 6

Question:

LEVEL 1

LEVEL 2

LEVEL 3

© WJEC CBAC Ltd

One interpretation is that Custer was not responsible for
the defeat at the Battle of the Little Big Horn. How far do
you agree with this interpretation? [10]

Use 0 for incorrect or irrelevant answers.

Generalised answer; makes simple comments about the interpretation;
will copy or paraphrase the given evidence. [1-2]

Eg: Custer alone was not responsible for the defeat. He had been told that
there were only 800 hostile Indians. They also had repeater rifles which he
had not expected.

Identifies differences between ways in which the issue has been
interpreted; will offer a basic judgement with some support from given
evidence and/or own knowledge of the issue. [3-5]

Eg: Answers will show understanding that Custer alone was not responsible
for the defeat. Expect basic contextual support to be given in terms of a
judgement, such as the evidence of Bruce Rosenberg that Custer was let
down by the Bureau of Indian Affairs who grossly underestimated the number
of Sioux and the fact that they had obtained repeater rifle. However, not
everyone agreed that Custer was blameless. General Sheridan believed
Custer made a fatal mistake in dividing his forces. This same point is echoed
by Private Slaper.

Begins to recognise and comment on how and why this issue has been
interpreted in different ways; will give a judgement regarding the given
interpretation. [6-8]

Eg: Answers will address the question by offering comment on different
interpretations of the reasons for Custer’s defeat at the Little Big Horn.
Answers will begin to demonstrate why different interpretations of this issue
have been made. Evidence 1 gives the view that Custer alone was not
responsible for the defeat. The writer is an historian who will have
researched the facts thoroughly. He argues that Custer was a victim of
circumstances, having been misled about the numbers of Indians and the fact
that they had repeating rifles.

The alternative interpretation is that Custer was responsible for the defeat.
One person who thought this was General Sheridan. In Evidence 2 he states
that Custer’s mistakes led to the defeat. Custer weakened his force by
dividing it into three. It also implies that Custer had not bothered to check out
the enemy before attacking. Sheridan was a very experienced senior officer
and so his interpretation should be a reliable one. Sheridan’s view of Custer
is supported by Evidence 3. Though this writer was only a private soldier he
lived through the events and is giving us a valuable first hand account of what
happened. He claims Custer was impatient and attacked early because he
wanted glory. If he had taken more time to plan an attack, he might have
noticed the huge numbers of Indians in the Little Big Horn and waited for
reinforcements.






LEVEL 4
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Recognises and provides substantiated comments on how and why this
issue has been interpreted in different ways; will give a clear judgement
considering the given interpretation in the historical context.

[9-10]

Eg: Answers will clearly state whether they agree with the given interpretation.
Custer alone was not responsible for the defeat at the Little Big Horn. In order
to make this judgement, answers will discuss how the given interpretation has
been arrived at and recognise that there are other valid interpretations of this
issue.

The historian writing in Evidence 1 states that Custer was not to blame and
believes that the Bureau of Indian Affairs should take responsibility There
were far more Indians that he had been led to believe and they were better
armed than he thought. This is likely to be a well researched piece of
evidence, so it should be reliable. It is also focused on Custer and the Big
Horn suggesting he will have researched the events in great depth. In
Evidence 2 even General Sheridan mentions that this was the largest group of
Indians that ever assembled. However, it does not explain why Custer still
chose to attack, even after his scouts had told him that there were far more
Indians that he had expected.

On the other hand, the range of evidence given in parts 2 and 3 point to the
conclusion that Custer was largely responsible for the defeat, which happened
because of a series of tactical errors on his part, combined with his desire for
personal glory. In Evidence 2 we have the testimony of General Sheridan, a
senior officer with vast experience, including Indian warfare. He lists Custer’s
tactical mistakes e.g the tired men and the decision to split his force instead of
a single attack. Sheridan has had 3 years to think about the battle and this is
his conclusion. This evidence was given to military inquiry, which is likely to be
made up of senior officers, so he will have been speaking to experts who
would have seen through any weakness in his testimony. The interview by
William Slaper, the private soldier, supports Sheridan’s view that Custer was
responsible. Though he was only a private, he did experience the events. He
believes that Custer should have waited for reinforcements from General
Terry. He uses the words 1, like many others”, which suggests that other
soldiers also had doubts about Custer’s leadership. His evidence hints that
Custer’s own personality contributed to the defeat. However, both pieces of
evidence have their limitations. Sheridan was overall commander in the Sioux
War and may have wanted to blame Custer for the disaster, while Slaper was
a survivor and perhaps angry at Custer for the loss of fellow troopers.
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One interpretation is that Custer was not responsible for the defeat at the Battle of the
Little Big Horn.

How far do you agree with this interpretation? [10]

In your answer you should use the evidence opposite and your own knowledge of how
and why there are different interpretations of why Custer was defeated at the Battle of the

Little Big Horn.
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Sticky Note

opens with a clear judgement on the interpretation



Sticky Note

supports judgement with reference to content



Sticky Note

uses content of Evidence 2 to discuss the interpretation that Custer was not responsible



Sticky Note

begins to explain why the author has reached this interpretation



Sticky Note

uses content of Evidence 3 to support the view from Evidence 2 
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Sticky Note

uses content to consider the alternative view



Sticky Note

considers why the historian has this view but analysis is rather formulaic



Sticky Note

This candidate has begun to recognise and comment on why there are different interpretations of the event. There was a clear judgement on the interpretation at the start of the answer and the content, supported by some background knowledge, has been used effectively in support.  However, though the candidate made some reference to the authors, this element of the answer lacked development.  A more detailed explanation of why the individual authors reached their particular opinions was required.  This response was given Level3/8 marks.
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Examiner
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(c) One interpretation is that Custer was not responsible for the defeat at the Battle of the|

Little Big Horn.

How far do you agree with this interpretation? [10]

In your answer you should use the evidence opposite and your own knowledge of how
and why there are different interpretations of why Custer was defeated at the Battle of the
Little Big Horn.
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Sticky Note

uses content to comment on first interpretation



Sticky Note

uses content from Evidence 2 to consider the alternative interpretation



Sticky Note

builds on the second interpretation using content from Evidence 3



Sticky Note

reaches a conclusion using the evidence provided and elements of own knowledge
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Phil

Sticky Note

Marked set by Phil



Sticky Note

This candidate has identified the different ways in which the event can be interpreted.  Good use has been made of content, with some support from own knowledge, and the candidate has reached a conclusion regarding the interpretation.  However, no attempt has been made to explain why the authors came to their individual views.  Therefore this response has been given Level 2/5 marks.
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Historians have made different interpretations about the role of Custer in the defeat at the Battle of
the Little Big Horn in 1876.
The following pieces of evidence refer to whether Custer was responsible for the defeat at the Battle
of the Little Big Horn. Study these and answer the question which follows.
Evidence 1

This interpretation is from an American historian Bruce Rosenberg, in his book Custer and the Epic
of Defeat, published in 1974.

He argues that the defeat at the Battle of the Little Big Horn was not Custer’s fault.

All during June 1876, everything went against Custer. He had been led to believe by
the Bureau of Indian Affairs not to expect more than 800 hostile braves; in fact he was
probably confronted by over 4,000. To make matters worse, he was not aware that many
of these Indians were armed with Winchester repeating rifles, whereas his own men
were equipped with single-shot Springfields.

Evidence 2
This evidence is from a report by General Sheridan to an army court of inquiry in 1879.

He argues that Custer’s mistakes led to the defeat at the Battle of the Little Big Horn.

| believe that Custer’s decision to divide his men into three groups was wrong. If the
Seventh Cavalry had been kept together, he would have been able to defeat the Indians
at the Little Big Horn. His biggest mistake was to attack what was probably the largest
group of Native Americans ever assembled on the North American continent.

Evidence 3

This evidence is from an interview given by a soldier, Private William Slaper, shortly after the battle.

Custer was impatient and did not wait for support. By attacking on the 26" July, a day
early, | believe Custer hoped to get all the glory for himself. This may have spurred him
on to take a desperate chance and attack. Again |, like many others, think he made a
mistake in dividing his troops in the battle. Had he kept them together and attacked the
village from one side he may have beaten the Sioux.

(c) One interpretation is that Custer was not responsible for the defeat at the Battle of the
Little Big Horn.

How far do you agree with this interpretation? [10]
In your answer you should use the evidence opposite and your own knowledge of how

and why there are different interpretations of why Custer was defeated at the Battle of the
Little Big Horn.
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